Adda247

SET -@
A-SECTION -1 )

ODIA (COMPULSORY) |

IV BR6Re0 €10 06 g (-1 Q 5 @d8) | 5 agi dqqeca adal oras 86 QFd
HYe0 0 QI8 : Adam 7

RO¥9 COQUNICR §1R, coan Rl AR Baie R ,
QTR 0A60 a6 2Id2IF | g8 FaACH AAGH (A) oee aBe Qane 8919

99 AT AR LIEAISH KR GITR QEEIN | 9@ (B) sierion Seai 691G
USAR6R QTN 3 RUINANING AFO 6RERIR 2GR

O SQ uRaIR | e aBe Suiawa GaIRIE) 624l | ©) Boea adel 2gna SGeIg

90 eIee Jaeidica Alia SaIe SBecR
60 904 Q008 QaIglg QIRe] AIRCRER TR0
g9 90 | 6969 QIR0 RIAIR, FQNER 49 H6ER

VP9 | VIR 6219 G1R6R A 2GR 64 AIRAIN | 3 ] 2 ¥
NRal S| 1l ?.Qa'.q 68 98 QY6a 919 3 LAY RIER g QaUler GIQQQ QLeq

(D) qdz edieg 46 @929

a@IRAN | 010 SqgRea 2I6ARRI 6 082 08 deQIR QINCAER ARG gOIR ATTER AIF
965 9% QQaIG | a2l 6 edin fuea Qand | QRgea ?

&9 | 998 aqQace aeceIn Sana 082l 2igae | ' 3
@091q 082l a*ae aBo Adal | geiieand, §on | (4) eQe QI0e, VIOIP Bgaea gidadsa
A2QR TR 6 APIRIC IQR6R 966R QR | % ae

9% | 99 9adieal, 696 4% a6 354 Qe |

91809 69260 QUIRGI gaIe @G 6ok caisal | (B) 9I010 6ROIAINGR AULEHER 2Eol
A9l 999, 929! | <@ Are 67 caIaal @ETIQ el

AR 693694 @Reans oTae aa6a oI

aeIeaId | Y6868 LIIR, SNG Q6R YR6R (9)—Gkoca-geode-aava gou o

6216217 QG2 960 IA9a Ae6aId wqal | (D) QUROR JRIRGI T'FiFe aade odo
62190214 | 6g@6ge 9RcaAE Q6TR Qe ) ag ¥ a'glﬁq e
PRARG SIA 90 WER AUIAGTE 6RBIT T80 QRIRIE

@39 9Id oIRGB | 69T QAR CRdR 1o

6@8 duig ol B! . -
90@ 604 QuIaod Q0 A0S 2ARIRE AREAT | | , s 26419 NIGS 9B QLRSS ASRIGIS

YREOACT AERINIL QB QIR 9@ ACEIT a6ag | Q@24 ?
1. @4 60194 @89 AIY QRN oFae
Q063 910 IRIRAER ? (A) SGac aasa o aaeae!
(A) 10014 AIRE AP0 48 Fanca (B) QO9Q PRARG 90 NWER AGIA co0IS
26NN QI ‘ aRe eIeR a1 QoS!
(B)* QIQ0Q YIS AR AA1a o e -
(C) §o10 G460 AROA 6QIFIF ® . s
AnG6a (D) Q61 CARSAINS 2AO! QAR 2
(D) wee1a eRINIE 9 @G Qgal
(Continued)

OSSTET/P-1 12

Scanned with CamScanner


Admin
Stamp


QIR 6Q8R 6991 IR Fog coc )
5 ¢y Qa0 2136 ? 699 Ssoauq 10, 24@ 29 @Rq 99T !
;EL‘;F (A) 98gna (A) SBOGER SEAMETH g a9 T4
. B (C). QQAET Qe ge 365159 2icaig © gt o
' (D) 9IE R0 qme ";"Qw mg: Em,
. doan 99en 968 |
_,i 6. FEQI9 Aug 6900 oRelg aQ 7 (?) gecige
. (A) @ey |
EBJ aay 11. eI 44re 919 ;tsm 950?9%
A8 caeaa FAa! | - @ 696 G A
~ (C) sagy
‘.. (D) <84 (A) e8e
o @) eaide
7. 84Q 901 9 | - 60 968 cod 3ed Lo
@ e '

(B), oqdt
. © gea

}'Lu

'ﬁf{-ﬁu e

o

Scanned with CamScanner




SET -@

4. 3993990088 oig gfo w69, Qa0 983 | 17. 28a gsea - 9 99T @'Q 629 ?
ERIGR 29 9010 0GR | - 4Z6H 608 2R
9qg9 7 (A) aead
(A) abe (B) ang
(C) geoua
(B) <o
(D) @aa
€) e¢qa
) sosgm 18. ‘0% ofer PP e 2dea gede?
(&Y eaReIael
15. eol cadeniece aiea zgera | - (B) @ae edel
RIS 2°gd
a4 609 99 ? © oeae o8l
(A) Geaay (D)  #AMRIGER OFQ
(]
(B) adqiq 2 '
(C) Geaaa i 19, 819918 99 oAl AgRI GO - 6asITe 2°aR
) s e
(D) azeya )
& t——n
ﬂ J'fl}"g (B) ﬂﬂ',mﬁi i
E 4 -. ,"' i
16. caGe @99 a6 coldal, S Soonll | ¥ )
(D) Scasq
q6a Q21 a9 A6Q ANl | - I26R 699
USSR 0BT ?
) wasgs 20. ‘%9 cowoer 999 2d v ¢
A) 629981 699
(B) 29@ .
(B) Q& 6Q¢IQQl
A (€L, odeie adgrel
(D) azggiQ (D) 2897 @89 :
OSSTET/P-1 [4] (Continued)

Scanned with CamScanner



SET-(A)

E
NGLISH (cOMPULSORY)

21. This contract eXpireg
December 315t o 24, Shegot her examination all
B o right.
(B) by Fill in the blank choosing a correct particle
Q) at given below.
(D) in (A) up
(B) round
22. ;—I}(: has spoken to the Headmaster. (C) through
fe sentence can be written in the passive
voice as : (D) on
(A) The Headmaster has been spoken.
(?) The Headmaster had been spoken | 25. Neither the Headmaster nor the teachers
to. present at the meeting.
(C) The Headmaster had been spoken. (‘A) was
(D) The Headmaster has been spoken
e (B) have
(C) were ; 20 ¥5 B
23. He ordered for a good deal of sacred (D) has .| &
books. R &
Rewrite the sentence correctly. ‘
(A) He otdg[gd for a good number of 26. | reached the station after the train
~  sacred books.
(B) He ordered a good number of (A) has left
€~ smed bOOkS-
(C) He ordered a good deal of sacred (B) had left
books. (G) had been left
. dered a good number of
(P) He or b::;- 89 : (D) was leaving
OSSTET/P-1 . e
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27.  The doctor said, “Do you have a headache [ 30, State the correct pronunciation of “climb’.
now ?” {r'v /klaim/
The sentence can be written in indirect (B)  /klim/
speech as : (C) /Klimb/
(A) The doctor asked the patient if he (D) /kleim/
¥ had a headache then. Read through the passage and answer the
(B) The doctor asked the patient if he questions that follow choosing the correct
has a headache now. alternatives.
sty Rain s ies most of the water that plants
(C) The doctor asked the patient if he o q“ppl"ﬁmoqrf} o d
need, but unfortunately it does not always fall
had a headache now. % - G
at the right time of the year or in sufficient
(D) The doctor asked the patient that | quantities. Plants may stay alive if rain is scarce,
he had a headache then. but they will not yield such a good harvest of
food. Thus, for centuries man has devised
methods of supplementing natural supplies of
28. He s a very intelligent boy. water to his crops by means of irrigation. These
methods vary according to the climate, the
Express the meaning of the sentence in crops and the available water resources. In
an exclamatory sentence. . tropical and mediterranean countries, water is
(A) What an intelligent boy; is he ! naturally brought tor the crops by a network of
’ eSSy L AL surface ditches; this is known as surface
(B) What an intelligent boy he is ! irrigation. In surface irrigation water spreads
over the surface and soaks into the ground.
(C) How intelligent boy he is ! i gro
& o Questions :
D) How intelligent boy is he !
(@) i Y 31. What has been devised for centuries ?
(A) Methods of irrigation
29. The word ‘laughed’ is pronounced as : (B) Methods to replace natural supplies
(A) /lactt/ of water #
(C) Methods of supplementing natural
(B) /la:fd/ R ;
pplies of water to the crops by
(©) /laft/ means of irrigation
(D) Methods to supply water to plants
(P): /1t e in sufficient quantities
OSSTET/P-1 (6] (Continued)
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32. Whatis known as surfa
: Ce Irriga
A} Bringing w Oton 7
"\)A;/ BN water to the cro
network of surface ditch
e ‘hes
(B]’ A network of
countries

(©) A network of

Ps by a
ditches in tropic

al

ditches in

SET -(A)

s shining in the sky.

She lived unknown, and few could know
When Lucy ceased to be;

But she is in her grave, and, oh,
The difference to me.

mediterranean countries 36. When Lucy ceased tobe ...
(D) Water soaking into the ground The underlined words mean -
33. ... but they will not yield. (:)n ?SZPpeamd iy o
What does the word ‘they’ ref, ot e !
(A)s plants et (C) stopped working
(B) the crops (D) left the place
(C) water resources
(D) these methods 37. By comparing Lucy with ‘a violet by a
mossy stone’, the poet is drawing our
’ : ttentionto the f Lucy.
34. What, according to the writer, is an a lon e of Lucy
unfortunate thing ? (&) love
: ; (B) beauty
(A) Rain suppl)«'mg enough water to (c) innocence
the plants plias
: (D) dignity
(B), Rain not always falling at the right _
time of the year 38, What is the antonym of “praise’ ?
(C) Rain falling in sufficient quantities - (A) unpraise
('Q*f Rain being scarce. (B) impraise
(G)exalt
35. What is the synonym of ‘scarce’ ? (D) dispraise
(A) adequate ;
(B), abundant .. .. 39. Identify which of the following is false.
(C) copious ' ' (A) Lucy lived close to Nature
(D) insufficient (B) Lucy was praised by many
(C) Very few people loved L
Read through the poem "and answer the (D) T l.iveg P ec::; 4 ucy
questions that follow choosing the suitable may
alternatives given below. 40. Wh
She dwelt among the untrodden way - What makes the poet utter the word
- 3 oh” ?
“Beside the springs of Dove; et
A maid whom there were none to praise (A) His grief at the death of Lucy
And very few to love. (B) Others’ unconcern about Lucy’s
A violet by a mossy stone ( gt :
~ Half-hidden from the eye ! C), Others’ not knowing her
- Fair as a star, when only one (D) Others’ not loving her
(OSSTET/P-1 (7]
m!? (Turn over)

Scanned with CamScanner




SeT -(A
103121

PHYSICS

An object is thrown .

. Pward w;j
velocity o. If air drag is neg with a
“htﬂllbeinferred ahtu‘e g o;
m‘ﬂ.}’“‘tﬁ Ed%t(td)fmﬂ'le
motion of the object ?

Aa) 4>t

B) >t

44. A Force-time (F~t) graph for a linear
motion is shown in the figure below. The
segments shown are all circular. The
linear momentum gained between 0 and
8 seconds is :

2+ :
1+ /\ z
FTo £ et + o
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46.  The electric field strength ata distance 'Y | 49. Two waves are represented by
from’the dentre of a charged sphere of )
radius R is E. 1f r > R, how much work Y, = asin ( t+ <)
will be done in bringing a test charge do
from infinity to that point ? Y,=a coswt
(A) q4RE The resultant amplitude becomes :
B E
(B) ‘YagyR s o
(©) YaqqrE
by ® Jza
5. € JZa
47.  The magnifying power of an astronomical D) 2a
telescope is 8 and the length of the
telescope is 54 cm. The focallmgthaf
the objective will be : |
50. The load versus elongation graph for four
(A) 6cm v wires of same material is shown below.
(B) 48 cm The thinnest wire is represented by the
©) 64cm : line.
(D) 8em |
48. The
fork whereas the frequency of another
tuning fork B is 3% less than the standard
one. The forks A and B produce 6 beats
per second. The frequency of standard O elongation — 5.
fork will be :
(A) 100 Hz R
(B) 106 Hz (B) oc
(€) 103 Hz () OB
(D) 112 Hz (D) OA
OSSTET/P-1 (18]
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slit experiment is

; ‘Amas Mar
| T point is (.5
nea M and Point | 54, If e
54, If Young's double
ater instead - de

s 3 m. Power
ol the
- required for the pe © Spectacle |
~ distant objects PEION 10 sep g i performed inside W
respectively g, then :

A _?ﬁ;gn =2Dand +3p 4

_'._-_.‘.I y f

: :2 +2Dand -3 g urt::::nged

- (© +2Dand -0y '

. M D (B) fringe width would incre

B "3Dend tonp (c)) frinse wldth:oulddec S
ge rease

(D) no fringes would be seen

width would remain

. The ratio of radii of two planets
P

e ‘P;:mvmg around
~ of the planet the sun is 4. The
. of the planet P, is 32 times Mass: | 5
heavier than | The potential energy of a system of three

1 and

R 7 - tio of - , -

e f Py to Py is : ol escape velocities idmﬁcalchnrguipcnchpwﬂm

' vertices of an equilateral triangle of side
10 cm is :

(A) 0.27 ]

wrust on the body due to the

at the centre of tha dircle

f
ol S A SRR
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S7. A(100 W, 200 V) electric bulbis con
to a 160 Volts supply. The pe

consumption

plates come close
voltage on the c
plates are not m¢

plates €ome ¢
the

(iv) The applied

(A) @and (i)

-jh-

' Cil't is 2 amj

SET -@

59. A series combination of an inducto,

having self inductance L and a resisto,

with resistance R are connected to ,

battery of emf E with negligible interr;|
resistance. The final value of currep,
depends on

(A) LandR

() EandL

(C) EandR
(D) L RandE
average value of current in an AC

An AC ammeter
it will show -

© 375 amp

(Continued)
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SCIENCE (PCM)

CHEMISTRY

: e refining of Nickel metal is done by ;
'A) Van Arkel Method

‘Mond process

Vapour-phase refining

Zone refining

ding to Le-Chatelier’s principle
m yield of ammonia is obtained

Low temperature
.‘_,w temperature and High

The volume of 0.05 N H;80 solution
needed to completely neutralise 25 ml of

0.1 N NaOH solution is :
(A) 25 ml |

(B) 50 ml

() 100 ml

(D) 12,5 ml

65'

66. Mﬁchofthefoﬂawmgionismeamaﬂm
Wiainmze'? SRl S
AA) N3~

g the following covalent

(D) HF

A L g

One ﬁﬁ;&f ‘water weighs 0.018 g.
Number of water molecules present in one

68.

drop of water is ;
(A) 1x1073

(B) Gtozxm”
©) Mxiﬂ'-"

(21]
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“‘\J
According to VSEPR theory the shap .

69. The relative lowering in vapour pressure | 72. ;
of an ideal solution containing the SFg molecule is :
non-volatile solute is equal to the mole : ‘
: ] bipyramidal
fraction of the solute at a given e R
temperature, This law is known as : (B) Regular octahedral
(A) Henry’s law .
ry’s law (C) Pentagonal bipyramidal
(B) Van't Hoff's law
D) Tetrahedral
(C) Raoult’s law *)
(D) Ostwald’s dilution law
73. When acetylene is passed throygy
70.  The oxide of a metal contains 40% oxygen. ditls e of HgSO, at 6,
If the valency of the metal is 3, its atomic e el S i oomed is .
frass will bes (A) Dimethylether
(A) 8
(B) Acetone
(B) 16
© 36 (C) Acetic acid
(D) 24 (D) Acetaldehyde
71. What wi :
twill be the product of the following | 74, In the'standardisation of Na.S.0. usin
reaction ? 2 L
K,Cr)0; by iodometry, the equivalent
Mol.
Conc. H,50, (A) __—_""""""I;Iass aBies 3
. >?
Fuming HNO,
(B) Mol.Mass
(A) m-dinitrobenzene 3
(B) o-dinitrobenzene
Mol Mass
(@
(C) p-dinitrobenzene © 6
(D) Both o- and P'dﬁ‘ﬂmb?“me (D) Same as molecular mass
P-1
OSSTET/ (2] (Continued)
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is not precipitated by Passing 1.5
Ougr ‘ddiﬂﬂd ZnCl-z wll.lli()ﬂ, bu[Cus

precipitated by passing, H,S through
‘ 2d CuSO, solution. The reason for

ertainty in the momentum of an
is 1x10-5 kg m/s. The

._x-io._gg kg m? /s) : /

! It

Wi e Bt
1.05%107% m

ct order-of electron gain

T TR T Te——

seT -(A)

78. The set of quantum numbers for

19th electron of Chromium atom is:
n P e .8

7 3 o 1 1

® Sl e Y2

(©) 4 0 . 0 2

(D) 4 {1 14

79. Which of the following is an

tainty in its position will be |

Scanned with CamScanner




SET -@',

e T e ——————
B - SECTION - I1I
SCIENCE (PCM)
MATHEMATICS |
81. Risa relation over the set of real numbers 85. 1f x=2+ 3, find the value of x2
and it is given by mn=0. Then R is : .
(A) Symmetric and transitive s
(B) A partial order relation Ay 8
(C) Reflexive and symmetric (B) 14
(D) An equivalence relation
(C) 16
82. If the quadratic equation ax?+bx+c=0 (D) 18
has Jzt: as one root of it and a=2,
then what is the equation in standard 86. The number of terms common betweern
form ? series 1+2+4+8+ .......... to 100 terms
(A) r2-6x+1=0 and 1+4+7+10+.......... to 100 terms
(B) 2x2-x+1=0 is:
, (©) x2-vV2x+ 53 =0
| V2 (A) 6
(D) V2x2-3x+ 3 =0
(B) 4
83. Let A={x|- 1<x<1]-B Iff: A>Bis © 5
bijective then a poss ) J
f(x)is: (D) None of these
(A)
(B) x|
(C) sinmx 87. LetGbea gro’up IfHisa subgroup of G
(D) None of these with order H and index of H in G is 7.
then order of group G must be -
84. Let A and B be two sets. Then
(AUB)' U (A'"B) is equal to - (A) 154
(A) A’ (B) 18
(B) A
© B (C) 77
(D) None of these (D) 1078
P-1 -
OSSTET/ [24] (Continued)
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~ Differentiate 2 log,x with respect to .
(A 27

' ‘:':i-(sl logyx +1

.&.,t(.2+b2+c2)p2 =2(ab+be +cd)
(52+c2+d2)$0 then a, b, ¢, d are

seT -(A)

91. The equation of the plane passing through
Ul—l - % and parallel

-1
thennez._.—-

to the direction where direction numbers
are3,4,2is:

(A) 14x-5y—11z2=19
(B)
©)

()

Ix+4y+2z+1=0
2x—y+3z=3

None of these

'___j‘;"* The diagonals of a parallelogram PQRS
are along the lines x+3y=4 and

3"'"‘?=-X-'dmm E £ _.I__ , &eh'c“h’ s
the line cuts the X-axis and Y-axis at A

and B respectively then BC : CA is :
(A) 1:3

B 3:1 <.
© 10

(251

Scanned with CamScanner



SET -(A)

94. Find the mean deviation from the mean | 97. Solve:
for the data 6, 7, 10, 12, 13, 4, 8, 20. tan28 + (1 - 3) tand — 3 = 0
(&) 10 (A) 3
B) 3 L
(C) 3.75 -
(@)
(D) 8.6
m™
D) 3
95. Two dice are thrown simultaneously. 98. The diameter of a sphere is decreased by
Find the probability of getting a multiple 25% . B;' wiiat l:l;ercent does its surfac:
of 2 on one dice and a multiple of 3 on area decrease ?
the other dice. (A) 25
1 (B) 52.75
(A) 15 (C) 37.25
(D) 43.75
1
(B) 3
0 PSP
ll_ 99, q-p 0 Q=T isequalto:
(© 36 =P Y=t
; (&) prq+r
@) 3 (B) 0
©) p-q-r
(D) —p+q+r
96. If tan®) =2tan’$+1, then c0s20 is equal 1 3121
i, 100. There are two cones. The curved surface
area of one is twice that of the other. The
(A) sin’d slant height of the later is twice that of
the former. Find the ratio of their radii
waln? i
(B). - gt (A) 2:1
€ 3:2
(D) —cot?d (D) 4:3
OSSTET/P-I [26] (Continued)

Scanned with CamScanner



seT -(A)

SCIENCE (CBZ)

CHEMISTRY

50 ml of H, diffuses out through a small
hole from a vessel in 20 mins. The time
needed for 40 ml of O, to diffuse out from\,.
‘the same vessel is :

WA
(&) 12 min &,
(B) 64 min '“(\ B\
I %
8 min 1,
e 103121 i
32 min ~ ‘9 1/
9 1%3,

‘.

\©

Aocozding to Le-Chatelier’s principle
'yxeldof'ammomaisobtamed

Highum;;erature and low pressure

v s,g/.ﬁ:

44. Theoxide of a metal contains 40% oxygen.
If the valency of the metal is 3, its atomic

mass will be :
(A) 8 »
(B) 16

R4 X

. % h
o\ 7

K o
T
ol .
45 The refining of Nickel metal is done by :
(A) Van Arkel Method
R,
(B) Mond process
©) Vapour-phase refining

p) Zm.re&lmg.'

a*ia‘r‘,:?_‘,

m@ k&s_‘

ﬂmghne&d:ﬁeéﬁagwlnﬂom but CuS
is precipitated by passing H,S through
acidified CuSO, solution. The reason for
this is :

(A) Ig’_-cus:-» K, ZnS

(B) K, CuS =K, ZnS

©) chus << K, ZnS

Bt < S i |

- - "

e —
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50. The relative lowering in vapour press;,

47. The volume of 0.05 N H,SO, solution .
needed to completely neutralise 25 ml of of an ideal solution containing t},.
0.1 N NaOH solution is : non-volatile solute is equal to the ),

o_o‘{ fraction of the solute at a give,
A) 25ml N i i
(A) 99""3 S 2 v temperature. This law is known as
(B) 50ml e (A) Henry's law
! la
© 100 ml (B, Van't Hoff's law
" (C) Raoult’s law
D twald’s dilution law
W) Eanl (D) Ostwald's dilution la
.
f-
S o

® 260 :

48. The ore containing two differ em( t;ls 51. Among the following covalent

S o comp‘ouqu, the compound having more
: %'\f-/\ \¥ polar character is :
A) Haematite -
(A) 7 (A) HI
(B) Galena (B) HA
C) HBr
(C),. Copper pyrite o
(D) HF
(D), Magnetite
52. One drop of water weighs 0.018 g
Number of water molecules present i
49.  What will be the product of the following drop of water is : i g
ction ?
e (A) 1x10-3
NO, (B) 6.02x10%0
(C) 22.4x10-3
Conc. H2504__; ’ (D) 6.02x3x102
Fuming HNO,
53. Which of the following shows positive
(A) m-dinitrobenzene inductive effect ?
(B) o-dinitrobenzene (A) -NO,
B) ~-COOH
(C) p-dinitrobenzene ®
(D) Both o- and p-dinitrobenzene (D) -CN
OSSTET/P-1 [28] (Continued)
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'54. The set of quantum numbe

rs fo
19" electron of Chromium atom or

is ;

m s
NEe
-2 1/

1L

P

= e W W3
- N o=

W;_lm_‘?cletylene is passed through

4 in presence of HgSO, at 60°C,
ic compound formed is :

seT -(A]

The uncertainty in the momentum of an
dlaction 18 1%107 kg m/s. : The
uncertainty in its position will be
(h=6.62%10"% kg m?/s) :

58.

(A) 1.05x10"# m
(B) 1.05x10"%m
© 527x10"¥ m

(D) 527x10"% m
(53
A

59. mﬂzesmndardiﬁﬁmofNazﬁzO?uﬂﬂs'
"\ K,Cr,0, by iodometry, the equivalent

~ mass of K,Cr,O is : 2
s ’ . 1%

u.\‘

following is an
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B - SECTION - III
SCIENCE (CBZ)

BOTANY |
61. The maiden-hair tree is : 66. S;:pwc[a}od kis synonymous with :
: (A) Bar
(A) Adiantum (B) Periderm
(B) Pinus (C3 Inner layers of secondary xylem
(€) Ginkgo biloba (D)  Outer layers of secondary xylem

(D) Gnetum ula 67. Indicate the features of a dicot stem :

(A) Vascular bundles closed, collaterg]

62. The phylogenetic basis of classification and exarch .

proposed by John Hutchinson was (B) Vascular bundles scattered, more
presented in the book : towards- the periphery

(A) Systema nature (C) Vascular bundles with bundles

] radial, exarch and closed
(B) ];;&?:;t;hon {2 the rafyizel orcigs (D) Vascular bundles are conjoint,
& #  collateral, open and endarch

(C), Fundamental botanica -

(D) The families of flowering plants 68. Which organelle does not participate in

photorespiration ?
(A), Peroxisome
(B) Mitochondria
(A) Monocots (C) » Golgibodies.
(B3 Ferns (D) Chloroplast
(C) Liverworts

(D), Gymnosperms

63. Seedless vascular cryptogams are :

69. Which are the products of cyclic

photophosphorylation during
photosynthesis ?
64. Where can the maximum biodiversity be (A) ATP +0O,
seen ? : (B) NADH + O,
(A} Tropical Rain Forest (g]. ATP + NADH
(B) Temperate Rain Forest (D) ATP + NADH + &
(C) Alpine Forest 70. The structure of chlorophyll molecule
(D) Mediterranean Forest shows a porphyrin head and phytol tail.
Pf;:'lpcﬁyﬁn is a cyclic-tetra pyrrole ring to
2 = ] - which phytol tail is attached. To which
65.  Which is not an elementigf phloem tissue ? ring of porphyrin is the phytol tail
(A) Sieve tubes BE attached ?
(B) Companion cells g?)) %I
(C) ,Bast fibres (©) 1m
(D) Wood parenchyma S (D) 1V
OSSTET/P-I [30] o | (Continued)
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Which  elfect
llbhﬁ\'ﬁml‘ll have

(A)  Absciasion

ey Il\mlll’it'nl

1]
N cabbag leavey 2 |

. W) Bolting
[C). D‘lh}‘ﬁd HONGRCOnce
- (D) Baly renesconce

2. The phenomenon of iingle

puene

() Plelotropy
 (B)e Multiple allelism

& (C), Co-dominance' .
(D) Polygenic inheritance

ously borne non-motile asexual

‘ﬁ_uctlve units in Ascomycetes are
~ called

entry of pollen tube through the
yle is @

76,

77,

, ©)

| —
SET --| A ]
Migropropagation in
(A) Production al planln from
Zoonporen

(B)  Propagation of microorganisms

lants
Technique of obtaining new p ;
tlv;‘gr:lrl:lvmg cells or tissues i culture
medium

(D) Technique of obtaining small plants

(©,

homozyznlily or

To determine £

heterozygosity, a plant must be ¢
with

(A) Dominant parent
(B) Recessive parent
Homozy gous dominant

(D) Heterozygous dominant

L4
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B = SECTION - Il |

SET -(a)

SCIENCE (CBZ)

ZOOLOGY
81.  Which stage of mitosis is regarded as the | 84. To which class does Protopterus belon,,
phase of reconstruction and
reorganization of nucleus ? (A) Aves
(A)  Prophase (B), Reptilia
Metaph
(32 saphage (C) Amphibia
(€) Anaphase
(D) Pisces
(D) Telophase
82. In which type of linkage, chrommosomes | 85. Inhumans the chromosomal composition
do not undergo any breakage during of zygote destined to form a female is -
gametogenesis and no indegen'dent
assortment occurs between the r?gmi of (A‘) 2+ X
genes ? '
I (B) 2+Y
(A) Sex-linkage
== ¥ XX
(B) Inbe;!-c}uomosonml linkage [ L 5 _XX '
Sy e .
©, hwmpzene ]inkagei N (D) 44+ Xy
(D) EPmpiiit oy Gl '
., 86. The walls and roof of a greenhouse
83. Where are the t-RNAs transcribed in the out-door laboratory is made up of :
eukaryotes ?
(A) Asbestus
(A) Ribosome
(B) Nucleolus (B) Gl sheet
(C) ER (C) Glass 't :_‘_.:_.._- ‘
(D) _Golgibody (0) ‘*‘mm
—— »J!l % 13 =
OSSTET/P-1 : :
B2 (Continued)
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- The phenomenon of industria] melanism
was first observed in :

USA

B s e

seT -(A]

90. Which one is not a factor for formation
of new species according to modern

synthetic theory of evolution ?
(A) Isolation

(B) Sexual selection

(C) Variation

(D) Natural selection

" 91. Which of the following statement, is

true ?
(A) Allveins carry demygaﬂll!dm

C) All veins except one carry
v Rl onl, L o '_"II i (

t one carry
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.ln:

AR, Aol ospletion i comploted

(A)  Nucleus
(M Mitochondeia
() Nucleolus

() Dictyosome

The pressure butld up at the glomerdlar
capillary network fs called 1

(A) Intrarenal pressure
(B)  Hydrostatic pressure
(C)‘ Osmotic pressure : f_ ‘EH
(D) Interstitial pressure

TheSAnodnhlocntedh\ﬂ\a.ﬁ _—

Y,

Ui,

9,

.'T [ n J
Ammonia Is converted 1o s i),
which cyele ?
(A) Cilrle neld Cyele
() Cardine Cyele
() , Omnithing Cycle
(1) Sodium Costranaport

Which one s an  Inhibitory
nearotranmmitier ?

(&) Acetylcholine

(1) Histamine dopamine

(€)  Gamma-aminobutyrle acid

(D) Glutamate

Which one of the following enzymes s

present In the acrosome of aperm hewd ?

(A) Pepuinogen

A) Right ay -
(), Rig | (B): Teypuing | P ]
B | ventricle . =
(B) E_ :]j 1w ”Yllﬁtwdulg?
© LS B Sy "-‘fB) lsomerase.
(D) Left ventricle
100, An abnormal condition in man where the
A : testes fall to descend Into serotum and I
96.  Which hormone
s called ‘love hormone’ ? rotained in the condition called ;
(Ak Oxytocin (A)  Gubernaculum
(B) Vasopressin (B) Cretinism i
(C) Testosterone (C)  Lorain dwarflsm
(D) Melatonin . (12) Cryptoorchism
OSSTET/P-1 |34) (Continued)
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C - SECTION - IV

SET -(A]
]

CHILD D

EV
CHO ELOP

OL MANAGEMENT & EVALUATION

MENT, PEDAGOGY,

J

101. Which of the followin
for encouraging crea

(&)

8 1S not a guide
tivity ?

line

As.k -students to support dissenting
opinions

(®)

(©) Give ungraded assignments from

time to time
(D) Don't reinforce a pattern of

. telling
Secrets”

102. According to Psychoanalytic theory of
motivation which of the following is
true ?

(A) Man's behaviour is directed by his

will and that the will is nﬂt#l
by intellecual evaluaton.

@ .

- (B Mot:vahon is an element of the
highest importance in the process
of learning.

@ Human behaviour is inspired by the

~ desires lying concealed in the

'Mnaduus and mlbconscmus

s

) ww h.'

ted —

103, School Based Management is a way for
forcing individual schools to take
responsibility for what happens to the
children under their jurisdiction - was the
view of
(A.} Malen
(B) Hausman

(€) Candoli

(D) Hallinger

104,

Inwhich type of educational management
m get proper scope for evaluating

[63]

(Turn over)
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107,

106, At which phase a child cannot solve 2

problem alone but can be successful
under adult guidance or in collaboration
with 8 more advanced peer 7

(A) Zone of Proximal Development
' (zrD)

(B) Zone of Actual Development
(ZAD)

(C) Information Processing
(D) Meta Cognition

Continuous and Comprehensive
evaluation emphasises :

(A) How learning can be observed,

seT-(&

109. Which part of the brain is involved iz

110.

higher cognitive process 7
(A) Cerebellum

(B), Cerebral cortex
(C) Midbrain

(D) Pons

Which of the following is not a
characteristic of critical pedagogy 7
(A) To empower students and help
them to help themselves

To subjugate students by
oppression

To promote emancipation and
intellectual growth

To center ifs practice on community
and collaboration

®)

©

D)

l. Which one of the following assessment

practices will bring out the best in
students 7 =

A) Wnstuﬂenlsarerequuedto
reproduce facts as tested via
When the emphasis is laid upon
positive correlation between test
scores and student ability.

When the marks obtained and the
position secured by the student m
the class are the ultimate
determinants of success.

When conceptual change and
students alternative solutions are
assessed through several different
methods of assessment.

=

©

(Continued)
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s Which one of the lnllnwmr
- fllestrative of a child congeg
A A class in which the
b and students are
' the notes,

A class in which the
only resource the te

Suation, ™

"'“('l“';u“.. p)

teachey Gictates
asked to Memorise

®
©

textbook iy the
acher refory to.
A class in which the behavioyy of
students is governed by the re

: wards
and punishments the teacher would

m them.
| @ A class in which the Students are

sitting in groups and the teacher
take turns to go to cach group,

: » based on statistical comparison of
~ individual’s performance with the
ﬂ : o!oﬂ\emh\umtngegroup

Ql Intelligence Quotient
(B) Deviation IQ
- (©) Fluid Intelligence

Behaviour is the movrement of an
ism or its parts in a frame of

provided by the organism itself

115,

116,

117,

agsessment

seT -(A)

of eoany
According to whorm, a short nnaw y
« which the gramine
ane or two lirven

| with one cemtral

item (e one Ir
supplios the answer In
and s usually concerme
concept 7

(A) Marshall & Hales
(N Linn & Miller

(C) Gronlund

(D) NCP-2005

A grading system In which teachers base
decisions about an
individual’s work on comparisons with
the work of peers Is classified as :

(A), Norm-referenced grading
(B) Criterion-referenced grading
(€) é;'weﬂﬁva grading

(D) ( Nane of these _

Which of the following is not the
characteristics of formative evaluation ?
(A) Its design is exploratory and quite
flexible

It seeks to identify influential
variables

®)

(C) It monitors teaching learning
Theory of Systematic I?ehaviour strategy during instructions
deﬁmﬂkﬂm (D) Itis almost unobstructive and non-
D} Operant Conditioning Theory A
(Turn over)
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bery's stages, empathy
| behaviours are most closely

Pre Conventional Ethics
Conventional Ethics
Post Conventional Ethics
None of these

)
«Q
()

In this world of human affairs there is no
worse nuisance than a boy at the age of
fourteen. If he talks with a childish lisp,
he is called a baby; and if he answers ina
grown up way, he is called an impertinent
whose view was it ?

9) Rabindra Nath Tagore
(B) Mahatma Gandhi

119,

(C) Sri Aurcbindo
(D) S. Radhakrishnan

120.

121.

(A)" ‘uspumdem *
(B) Rating scale
(C) Attitude scale %
(D) Questionnaire & schedules

122,

123,

124.

125.

SET - A

According to Piaget, the ability to infer 4
relationship between two objects based
on knowledge of their relationship with
a third object, develop at which stage ?
(A) Sensori motor

(B) Pre-Operational

(C\ Concrete Operational

(D) Formal Operational

Which of the following does not contain
School Development Plan estimates ?

(A) Physical requirement of additional
infrastructure and equipments over
the three year period.

Classwise enrolment for three years.
Training requirement of teachers.

Free textbooks and additional costs
as per the specifications in schedule.

®),
(©
(D)

Whose name is strongly associated with
the apparatus ofpuzgr.le box ?

§ € Loy 8

(B) Pavlov

(C) Thorndike

(D) Tolman

NCTE as a statutory body came into
existence in pursuance of the NCTE
Act-1993 on the

(A) 17" August 1993
(B) 37“‘ August 1995
(C) 5™ September 1995
(D) 10*" December 1994

L]

OSSTET/P-1
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| ' he essay test POssesgey rel
- yalidity and reliabilipy, bee
g factors excep .

itli\'l"V low
AUse of the

e
)

A) It can be assessed only by

L a to Ne
_T or competent profe achey

(3) It may not provide
- the compreheng;
learner

A true picture of

on leve] of the

The learners focyg on learnin
. broad concepts ang artic
- relationship

u!ating

: ;;I__,_Good verbal ability even in the
- absence of relevant points

sessment for learning takes into

nt the followings except :
Qualitative improvement
]\ A0 g

_ Learning styles of students

| Mistakes and strengths of students

"

i  #
- oty -',‘i M,-tl

in

seT -(A)

129. Characterization by value, which is one€
of the objective of Bloom’s taxonomy,
comes within which domain ?

(A)
(B)
(©)
(D)

Cognitive
Affective
Psychomotor
None of these
130. Which of the following is a physical/
material resource for education ?

(A) Intellectual properties

(B) Sponsorships

S
(D)

Alumni

Endowments

"ﬂﬁipugh approximate chronological
ageg---'a:g attached to the stages, children
_pasi}@pugh them at different rates” -

131,

ol | f
132. A child reasons ‘you do this for me and
I'll do that for you’. In which stage of
Kohlberg's moral reasoning would this

child fall ?

(A)  The good boy-good girl’ orientation

(B)  The social-contract orientation

(C) The instrumental purpose
orientation " ;

(D) The punishment and obedience
SR A

[67]
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arranging information
¢ into mental system or

(C) Organization
(D) Equilibration

All of the following promote assessment
as learning except :

(A) Telling students to take internal
Wi B

(B) Gamﬂnganafeenvﬁmh
¥ students to take chances |

©

(A) O&mnmmmm»gw
(B) Tdhgﬁmwﬁnyandokby
a -dw

136,

1137.

138,

SET- A
The following are the main cbyectves
International Conference on Educatyra.
Planning held at Paris in 1968 excepe
(A) To examine critically the
apmdedwmlphnr
over the past ten years.
(B) To assess major tendencies and
planning is likely to have fo deal
the next ten years.

(C) To assess co-operative learning
* groups and difficulties of

implementing mulitiage education

(D) To develop practical guidelines for
helving individual 6

There should be more varied modes of
assessment beyond the examination hall
paper pencil test,
recommendation of :

was the

© . NFE- 100
(D) Revised NPE - 1992

Who is the founder of critical pedagogy ?
(A) Pauo Freire

(B) Paul Willis

(C) Ira Shor

(D) Shirley Steinberg

(68]
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), Rousseau’s theory on adol, ol
criticised by the iy, i SRS waw | 142, Which of the following & n
LT l‘l‘t A I‘hﬂfll(‘“‘l"l"f “[ l-"“.p Pr“‘“ ?
(A) 1t was not Purely phyy t objectiven
fature . Maphic in (A) Wl'lﬂhh‘ﬂ“ are ﬂl\h!n (]
and eontents
N (ﬂ) Tt was not by, Wl
o expt!ﬂmvmsm don nhwr\-ntiun andd (B)  Welghtage to form of questions In
i terma of marks
N'P'.'. (q He was a i.lh\'l‘lh!ll Parent (C) A lv:fn '."minal()nal chart
TR .
&) He did noy Walyse the golf. (D) It produces a link between test lf"m’ .
expression of childyen and paper setters policy decialons
Which of the following s 4 ¢ 143. Which of the following is a benefit of peer
B teachiers to ) guideline for ¢?
. deal with the learnin assessmen
. disabled students ? . (A) It can assist in deepening the
1 | (‘Qg Breaking assignments Into very : sl Pﬂmpu?n'
% small steps (B) It helps narrowing the gap between
Nake one’s imagined view of teaching
Ca%e sure students are being/ and what actually occurs,
reinforced for their successes -
(€) It helps students towards
Work on the learning problem *  understanding the observation
directly process,
All of the above (D) I;gnk a sggdént@;hecpme more
i‘—):c‘!;“_ - 3 3 a:mar.‘-‘j"
2l | ‘=i 1Y B
Organising pre-service and in-service Nl u|a
ining of teachers; develop and g :Zf‘::: oiml? g is not a guideline
eminate innovative educational Gl vine ::;;" ft:’ develop problem
iques and practices are the objectives G S sC s 7
understand the problem
(B) Encourage attempts to see the
NCERT problem from different angles
(C) Central Advisory Board of (€)  Pose a question and let students try
~ Education to find the answer .
: . NIEPA (D) T“‘»'h heuristics
(69) (Turn over)
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T — —— B -
SET -(A)
Beind
by Rule-Eg method ?
145. According to McDougall’s view Negative 148. What doyou S o by movi
self-feeline is associated with which of the (A) Teaching O_T Iearnmlg, ‘t‘n _;\ ‘n?’
following instincts ? from specific examp es to general
rules.
(A) Submission (B) Teaching or learning by moving
ral principles to specific
(B) Acquisition brout gt s
examples.
(C) Self assertion (@) Making imﬂgi"ative leaps to correct
pcrceptions.
(D.) Repulsion (D) Teachers present material in
" complete, organised form, moving
from broadest to more specific
146. In MCQ item, the problem part is called concepts.
as:
(A) Direction 149. Role of teachers for the development of
critical pedagogy is/are :
(B) Foils (A) Collaborative and co-operative
learning
(€) Stem (B) Promote good citizen quality for
] :
(D) Distractor Rt S0cey
. (C) Development of capabilities of
learners
. (D) All of the above
147. Which of the following is the main
objective of continuous assessment ? i,
_ e 150. “Motivation is the stimulation of actions
(A) To find out the extent to which the towards a particular objective where
objectives have been a‘g_!-liev_ed previously there was little or no attraction
to that goal”. This definition was given
(B) To discover how far the learning by :
experiences in the classroom have (A) W.A. Kelly
roved effectivel
P y (B) T.W. Atkinson
(C) To learn how successfully the aims (©  F.G. McDonald
of education have been fulfilled (D} H.W. Bernard
(D), To help the learners to understand ~00o-
their progress in learning
OSSTET/P-1 [70]
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